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vz,/B/p Ap, = pVs_ |QH|—|QL| T -T B — 4B = o ( 2 )
1 | ” | 4R 4z r
AL/A=1234,.| AL/A =0515,25,.. _ = 15119 P }
o .
drs, 1 B — $B.dS = wi,
AL P, 27R
¢=727z | =—= 1 qf 2 Lii
Axr ) 2 B = ,Lloni Fba _ 1o ab
1 | mE, T 27d
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v 0 v CONSTANTS
AU =QA ~
AE, =Q-W W=de=deV a g, =8854x10" CZ/N-mZ
Vi —
., . N, = 6.022x10” mole "
P4 = 0eAT P, =0ceAT, L S 2
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cond - atm =1.01x10N/m
L
19 leV =1.602x10°) | v_ =343m/s
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PV =nRT = NKkT | W =nRT '”7 4w, ia le|=1.602x10™°c | 1,=10"W/m’
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R p,=4rx107 T-m/A | mg =9.11x10""kg
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_ = oV B
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C,=C, +R AE.  =nC AT FOR WATER
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c = R =22 2c 2 L, =2256 ki/kg L, =333K)/kg
V 1
2 C, L PREFIXES
C =2 ) k = kilo = 10° m = milli =10
Tv'™ = Constant PV’ = Constant In( /a) M = mega = 10° 4t = micro =10°°
C=4ne ab G = giga =10’ N =nano =10
b-a T =tera =10" p = pico = 107"




